=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

deltad46_12X4eY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

alpha4b_4ey4ay

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

alpha46_4eY4aY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

segment:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6782}

P -
e e e eeeeamaenaaaaan .-

6928 6928.5 6929 6929.5 6930
cyclenum

usl_4eY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

usl_12X:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

usl_sex

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

usl_4eX:cyclenum {run == 6782}

[

6928 6928.5 6929 6929.5 6930
cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6782}

P -
e e e eeeeamaenaaaaan .-

6928 6928.5 6929 6929.5 6930
cyclenum

usr_4eY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

usr_12X:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

usr_aex

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

usr_4eX:cyclenum {run == 6782}

[

6928 6928.5 6929 6929.5 6930
cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum



usl_coill:cyclenum {run == 6782}

5585.5

35585

5584.5

35584

5583.5

=

usi_culo

6928

6928.5

6929

6929.5

6930
cyclenum

usl_coil6:cyclenum {run == 6782}

6928

6928.5

6929

6929.5

6930
cyclenum

usl_coil3

usl_coil/

[

0.5

usl_coil3:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

usl_coil7:cyclenum {run == 6782}

6929 6929.5 6930

cyclenum

6928 6928.5

4554

1553.5

4553

1562.5

4552

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

usl_coil4:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum




0746.5

30747

07475

30748

0748.5

=

usI_coio

usr_coill:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

usr_coil6:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

[

usr_col3

0.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

usr_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

3073.5

3073

30725

3072

3071.5

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

usr_coil4:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum




-421.6
-421.8F

-422F
-422.2F

-422.4F

-422.6
-422.8

-423

-423.2F
-423.4F
-423.6 F

-423.8F

-511

-511.5

-512

-512.5

-513

1X_coill:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

4eX_coill:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

1X_coll3
=

0.5

4ex_colls
=

0.5

1X_coil3:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

4eX_coil3:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

1X_coll/

4eXx_coll/

[

05

[

05

1X_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

4eX_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum




174

1735

1725

172

183.5

183

182.5

182

181.5

4aY_coild:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

4eY_coild:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

4eY_coil6:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

4eY_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum




—250

-250.5

—-251]

-251.5

1ZA_CUNO

-252

1

12X_coill:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

12X_coil6:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

12X_coil3
=

0.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

12X_coil7:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930

cyclenum

9

8.5

12X_coil4

6784

5783.5

6783

5782.5

6782

5781.5

6781

5780.5

6780

12X_coil4:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum

run:cyclenum {run == 6782}

6928 6928.5 6929 6929.5 6930
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


